50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN
Sixth Semester B.E. Degree Examination,,
Operations Resear@%h
Time: 3 hrs. % N
Note: Answer any FIVE full ques
at least TWO question:
1 a. Define operatlons research. Explain th ha :
b. Explain the various techniques used.in oﬁ%fatlons research.

c. Solve the following LPP by graphlc%&lﬁﬁuethod
Min z =20x, +10x,

Subject to x,; +2x, <40
3%, +x,230 . 4
4x, +3x, >QO %
and X1, X2> ngm

\y
b%

ﬁm & &

% ine/July 2019

06CS661

Max. Marks:100

aons, selecting
rom each part.

A, ,

s of operations resear%lw

>
2 a. Define the follow ng ‘with respect to LPP. Gwe example for each.
(1) Feasible solu on (11) Feasible r%‘gkg;n (iii) Infeasible solution.

b. Solve the ﬁﬁgllowmg LPP using sm1plex method
Max ZERy T X2 +3%,

Subject to 3x1 +2x, +%, £3 oy
2%+ X, + 2x3 S 2
Where x,x,,x, 20. A%%M

¢. Why simplex method 1§§,tter than graphlcal me%bd‘?

m%
3 a. Solvethe followmg LPP by Trial and En;% method

Max z =3x, +4X,%
Subject to x ﬁxz s 450
4 2x] +x, <600

A
‘”Where X1, X2 > 0

Maxg«z 2x, +5x,

"S‘ubject to X, +4x,.<

hvad 3+ K S 21
N X, +)§%~69
*X;;, X2> 0

4 a. Construct thé’dual of the primal p;oblem:
Max z=2x, +X, +X; _ *"%‘“%

Subject to x, +x, +x, >%“
3x —2x2+3x3—3
—4x, %gyxz—-6x3 =1.
xl,xwz, 520,

1o0f2

ﬁw% ) f““”‘%y

(08 Marks)
(06 Marks)

(06 Marks)

(06 Marks)

(10 Marks)
(04 Marks)

(10 Marks)

(10 Marks)

(10 Marks)



e

b. Write the dual corresponding to,
X, +x, +2x, €120

3x,=-2x,-%,290
2x, +4x, +2x, =100
5x, +8x, +10x, =max z

B Bys By =l e
Use Simplex method and obtain the zerotl% a.nd first iterates of the di

‘5@3 ;

Explain dual-simplex algorithm with a'neat flow chart. s,
Use dual-simplex method to sq,;ymthe LPP By,
Min z=x, +X,.

Subject to 2x, +x, 22/

IS I

e
. Xl =X, 2l hv
ey
gﬁ&u g@v‘
a. Explain HunganagwAlgorlthm with examﬁée W
b. Solve the foﬁloé’/mg assignment problem:.«

ﬂ@i& %W { Ml M2 M3 M4 M5
A Y Aedy| 9 [ 11115 ] 10,] 11
»»Az&»;; J0b§:§ sz 12
T T
Ja| 14

a. Define the followggg & %
(1) Two person—zero sum game ® @W
(i)  Saddle pomt
(iii)  Pure" strategy
(iv) 4 Mixed strategy.

( = i
N ““sDominance princi ? ) Ty
b. Solve th@ﬁ*‘followmg 2x5 g@rt@ by graphical method:
2 % P}ayer B

Write a short notes'on:
Tabu search’ aT orithm.
Snnulated%hnealmg algorlthm
Genetic algorithm. 4

Nature of Metaheurlstlcs

Mm-,

e o

K % % ok ok ok

20f2
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(10 Marks)

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(20 Marks)



